
Subtracting up to 20 (H - set 3)
CHALLENGE

Name:

Time: Score: /

601) 15− 13 + 16 = 611) 15− 4− 1 =

602) 6 + 2 + 8 = 612) 16− 7 + 11 =

603) 16− 16 + 0 = 613) 15− 5− 4 =

604) 2 + 9− 1 = 614) 8 + 11− 1 =

605) 1 + 2 + 14 = 615) 9− 6 + 5 =

606) 0 + 8− 1 = 616) 7 + 1 + 4 =

607) 15 + 2− 15 = 617) 4 + 14− 9 =

608) 12 + 4− 5 = 618) 20− 10 + 9 =

609) 11 + 9− 10 = 619) 11 + 1 + 7 =

610) 13− 9− 2 = 620) 13 + 7− 14 =

Mathematics: Subtraction - Level 2 - Horizontal - Set 3 32 © workulum.com

https://www.workulum.com

